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SECTION-I : CHILD PSYCHOLOGY & DEVELOPMENT PEDAGOGY,
TEACHING LEARNING PROCESS

S 99 fafeen @
FURYd I¥A 2.

(A) 3TeHaY

I‘*J

i & fAfafed SorE |5 9
FH T IUTH 99 w9 fERomEs
27
(A)
(B) ZAACHHF
s

grafsas  saftrm 3unT|

(C)

(D)

N-2313-Series-A

(3)

il The goal

Therapy is basically :

of Social Cognitive

(A) Self Actualisation

(B) Self Regulation

(C) Uncovering Hidden

Conflicts

(D) All the above.

2. Social learning theory was

----------------------

developed by

(A{ Albert Bandura

v

(B) Alfred Hitchcock-

(C) Albert Darwen

(D) Albert Einstein.

3. Which of the following

approaches to personality is least

deterministic ?

(A) The Humanistic

(B) The Behavioural
(C) Psychoanalytic

(D) Social Learning Approach.

BIO:




woe & efr fagra o

(A) wew el wfwa @ denfer
B #

(B) wUwH yewy fagr @
C G

(C) orem  ardfawa  fagr
e e v

(D) oW wiebeew  wlem w5
darfera g ¢

a1~ SRR qfERey

(A)  wrfser st fagrrenfaal
arn famwfaa fem mn

(B) WA & f &3 smmwaran %l
oA w #

(C) WA ¢ o s e
wgfa @

(D) @@l & o w1 ud SwHEwd
A e wefee

frefafes o | ®F o fafdercrs

yfgan wriforer w0 A Y Sad

w e 27

(A) AW

(B) @A sferae

(C) Z-9T aEAE

(D) wfaw fadafan

N-2313-Series-A

(4)

b.

In Froud’s theory of personality :

(A) The lel Operatoes by

Secondary process

(B) The Super ego obeys the

pleasure principle

(C) The ego obeys the reality
principle

(D) The ego operates by primary

process thinking.

The Frustration  Aggression

Hypothesis :

(A) was developed by Social
learning theorists

@) assumes that frustration
produces aggression

(C) assumes that aggression is
basic instinct

(D) claims that frustration and
aggression are both
instinctive,

Which of the following clinical
procedures are based in part on’

classical conditioning ?
_/(K{ Transference

(B) Token Economy
(C) Two-chair technique

(D) Systematic desensitisation.




7. A ® g oy wfenf faar o

Hepdn ?}

(A) @ga ¥ aeffl w s
BT

(B) fawem o st goft wra
FH B e

(C) a8 wft & s uwk e
s W fie ad #

(D) wfedes fam &0 @i s

q diem 1 A
8. Twre fagrg 4 vttt T
a1 e
(A) IT H yaE
(B) fo=m & 9w
(C) yatawim I

(B) S W &I @fxd &
(C) Heehifeteh  eTacieh
(D) AATHhTEH  FaelE|

N-2313-Series-A (5)

Intelligence can be defined as :

(A) Knowledge of a great many

facts

(B) The ability to get good

grades in school

(') All the factors that make a

person different from others

(D) The ability to think
abstractly and learn from

experience.

Gestalt  theory  emphasised

......................

(A) A flow of consciousness
(B) The atoms of thought
(C) Environmental stimulus

(DY~ Our tendency to see pattern.

In terms of efficiency in scanning
information, which one of the
following strategies is considered
the best ?

(A) Conservative focusing
(B) Focus gambling

(C) Simultaneous scanning

9y Successive scanning.

PT.O.




10.

il

TR A YW # Al
ol H afimwm T A

YT 7

(A) TTER 3 AT e o

(B) "hawpfaw s fam Hoi aef

(C) BA & H B a4 am

(D) TEA ¥ WA FTA A

sFEaE Ha 3 3| fa =

Tiza & doFfas =fa & A
zZZ % ®9 W @A Fa @,
"""""" zm wfawfza f&a
N o

(A) vEEE

(B) 7% U3 AFEL

(cy Zf=m

(6)

10.

11.

Muller Lyer illusion is likely to

oceur more in cultures

characterised by :

(A) People living in rectangular
and square buildings

(B) People living in buildings
which are round and have
few corners

(C) People living in open spaces

(D) People living in caves.

The model of memory consisting
of short term memory which serve
as gateway to long term memory,
was propounded by :

(A) Ebbinghaus

(B) Crack and Lockhart

(C)

Tulving

(P) Atkinson and Shiffrin.




12.

(A)

(B)

(C)

(D)

13-

o o EyE @m et # e

ml‘rﬁTWﬁT{Eﬁmm
e femar s 2

N qug # duy Howw
TR W R wed A
2

Uy v YA fwar S @
3t JuE F quE F wEl@
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(A)
(B)
(C)

(D)

st wfa
AR
Hdt wfa
wEa qew

N-2313-Series-A

(7)

12,

- 13.

Backward conditioning occurs
when ;
(A) CS and US are presented

o

(C)

(D)

simultaneously

CS is presented first and US
is presented before the

termination of CS.

CS is presented first and
US is presented after the

termination of US.

US is presented first and
CS is presented after the

termination of US.

Which memory is the result of

Instrumental/motor -

learning

process ?

(A)
(B)
(©)

(D)

Semantic memory
Episodic memory

Sensory memory

Procedural memaory.

P.T.O.




14.

_..
N
P

16.

35-54
55-70

20-34.

Fa § foaf¥al 1 smavawdaed
F W FA & fau e sfam
frast @1 sfvey dar @ &
foq, foie=ni =t
EIEC N L I T

FIEHF  HAlfagH
s wafasm
IH= HAfaTH
fasmEs  gHIfaTH|

(A)
(B)
(C)

(D)

HEH|

N-2313-Series-A

(8)

14.

15.

16.

People with moderate mental
retardation would have an IQ in

the range of :

(A) 1049

(B) 35-54

€y 55-70

(D) 20-34.

To design teaching learning
activities for a classroom to suit

the

requirements of the

students, teachers should have a

knowledge of :

(A) Behavioural Psychology

(B) Industrial Psychology

(C) Abnormal Psychology

®d)

Developmental Psychology.

The drive reduction theory of

motivation is given by :
(A) Hull

(B) Freud

Maslow

©

(D) Kapson.



17. e wAfasE &1 UH STEATOE 17. Educational implication of

% fou e fafgaef Educational Psychology for a
21 teacher is ................. :
(A)  F=3 P fepenfyeii £ (A) understanding the children

or students

(B) fagm & frwi & Fen o (B) Apply the rules of Science in

class

: (C) Solve the School problems
(C) foemem ®t  wwEmen @

effectively
YAEEE! 7 W GHEH  Hl

(D) Correct his/her own
(D) w&mve % 9Yfd SO el

gronafl & WEl &

misconiceptions about the

Universe.

18. SO9ER &1 AT F I 9 18. The most scientific  and

Jafe ¥R S , fafy objective method of studying
"""""""" 2l behaviouris ................. .

(A) e fafy (A) Observation method

(B) vt fafy (IB) Experimental method

(C) waem fafu (C) Survey method

(D) &9 AT faft| : | (D) ' Case-study method.

N-2313-Series-A (9) P.T.O.




19.

20.

21.

{
N-2313-Series-A

3r dufos fagm | HatEd
TEER B R

(A) =g I

(B) WM Adell

(C) 3rafee 39
(D) vaTdll

FeE HEl Sl 2l

(A) FgeR 3R wHfas g

A(B) oAfas SEA, EEE EEeE

(©) v fefs, rfes fedf

(D) 3= § ° & A6l

20.

21.

(10)

-

................... includes the data
concerning the family
background and educational
development.

(#) Case study
(B) General behaviour
(@) Genetic approach

(D) Adequacy.

Educational  Psychology is

...................

(A) A Pure Science
(B) An Applied Science
(C) A Normative Science

(D) None of the above.

Psychology is said to be the

Science study of ................ .

(X7 Behaviour and Mental

processes
(B) Mentalillness, Mental health
(C) Physical states, Mental states

(D) None of the above.
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24.

N—2313—$eries—A

wagEr ferfa wwE' oW oW | 22,
BET A

(A) 'H ufsmeig

(B) famre wrre

(C) fasgw que

(D) faferm sham)
frafafas & @ #9 @ fafu s | 23.
HfEd Hl AR FE F g RS
qHd ®?

(A) SHUMER I HA

(B) ARIHE AR T

(C) faaRd o1y

(D) SWa H ¥ & T

TfaveT @ S B 22 24,
(A) dcd eI

(B) foms wEs

(C) facew oo

(D) SWed H § el

(11)

Who could the term ‘Serial

position effect’ ?

({'\) Hermann Ebbinghaus
(B) Sigmund Freud

(C) Wilhelm Wundt

(D) William James.

Which of the following method is

used for memorising a poem ?
(A) Serial memorising

(B) Syntactic memorising
(C) Distributed practice

(D) None of the above.

Who is the father of Psychoanalysis ?
(A) Charles Darwin
(B) Sigmund Freud
©) Wilhelm Wundt

(D) None of the above.

R.T.O.
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N-2313-Series-A

(B) s o
(c) sfas =&d

(D) W& § ¥ A

2

(A) S
(B) ThiEs
(C) Tsct

(D) F=m

25.

26.

217.

(12)

In India, first Psychological
laboratory ~ was established
B M ishssane

(A) Delhi University
(B) Bombay University
() Calcutta University

(D) None of the above.

The Single factor theory of

iﬁtelligence was given by ............
(A) Alfred Adler

(B) Alfred Binet

(C) David Hull

(D) None of the above.

Archetype 1s a terminology

associated with :
(A) Jung

(B) Freud

@) Adler

(D) Skinner.




28.

29;

30.

N-2313-Series-A

FH W TEAATR  EeRaR §
efaa 22

(A) f&T
(B) =g
(C) 3Hies

(D) ®l

THfoeE § S@eR & S
9 o fafy § w@aa AR enfya
g wewyqel a@ ' §?

(A) HAatrderor fafy

(B) wmfes fafy

(C) W fafy

(D) =afw sremma faful

safiem 3R dad oHwa S
T @ gahE 2

(A) YehIHEE!

(B) SHBRA!

(C) Wmﬁ

(D) Gafe-FAfa

28.

29.

30.

(13)

Which Psychologist is associated

with behaviourism ?

g}() Skinner
(B) James
(C) Arnold

(D) Hull.

himexam.com

In which method of study of
Psychology independent and

dependent variable are important

elements 7

(A) Introspection method

(B)” Experimental method
(C) Observational method

(D) Case History method.

Concepts like introspection ?\nd
conscious experience are
associated with :

(A) Functionalism

(BY Behaviourism

(C) Structuralism

(D) Gestalt Psychology.

RRO.
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32.

33.

N-2313-Series-A

SECTION-II : CHEMISTRY AND PHYSICS

uF g fod urt & FR uEA A&f
fd w1 Hehal €:

(A) N,
(B) O,
(C) SO,

(D) PH,

™ @ W NE & AEdd
B

(A) ®dl

(B) dedi

(C) mﬁaﬁ‘ﬁ @Al
(D) 3

R ®a H wged "W B
2:

(A) Cs
(B) Si
(C) Sn

(D) Ti.

31.

32.

33.

(14)

A gas that cannot be collected

over water is :
(A) N,

(B) O,

(C) SO,

(D) PH,

On heating, the volume of Ozone
will :

(A) Decrease

(BT Increase

(C) Remain unchanged

(D) Become double.

The material used in Solar cells

contains :
(A) Cs
(By Si
(C) Sn

(D) Ti.



3. fm 9 8 fead 0°C W w=ift & | 34. Which of the following is not
YA BH w3 TR 27 expected to have zero entropy at
0°C ?
(A) Bry
(A) Bry
(
B) CO (B) CO
(C) Cl, (C) Cl,
" (D) He. (D) He.
35. 9% HRERRE Fh"[ ““““““““ 35. The White phosphorus is
o dufea fea smar 21 stored in ............. :
(A) Bal H (A) Air
(B) UMt & 31=Y B) underwater
(C) @t & a8 & A= (C) wunder Kerosene
(D) H ¥ & =& (D) None of these.
36, W dew W T 36. Lead Pencil contains .................. :
e =
(A) Pb
(A) Pb ‘
(B) FeS
(B) FeS
©) I (&7} Graphlfe
(D) PbS. ‘ (D) PbS.

N-2313-Series-A (15) P.T.O.




37, fegat @1 afyeds €

(A) CgH5SO0,Cl
(B) CgHzNH,
(C) CgHLCOCI

(D) CgH;CONH,,.

3. ‘faorfim BY &1 gl A @

(A) U&hi"s TS
(B) A
(C) %Fa‘fa

(D) RIBUA|

39, TRTe ufae & R

(A) H,S,06
(B) stzo,,
(C) HyS,04
(D) H,S0j.

N-2313-Series-A

(16)

317.

38.

39.

Hinsberg’s reagent is :
(A) CgHSO,Cl

(B) CgHzNH,

(C) CgH5COCI

(D) C4HsCONH,,

L

The Chemical Name
“Vitamin B1’ is :

(A) Ascorbic acid

(B) Thiamine

(C) Retinol

(D) Tocopherol.

(A) H,S,0¢
(B) H,S,0,
(©); H;S,0;

(D) H,SO;.

of

_The formula of Marshall’s acid :



40. Ueagfhraar ¢ we1 1 @ST | 40,

feas gm +1 T o2
(A) BT d@a A
(B) TIHIE A

(C) ®em =+l
(D) T ¥ ®E &

41. foeit o 2:
(A) KNO, .
(B) NaNO,
(C) Na,SO,

(D) Nay,SOs.

42. Afis "¥A 3] H AR ®:
(A) SO; |
(B) BF,
(C) NH,

(D) CH,.

N-2313-Series-A

(17)

41.

42.

The Phenomenon of

Radioactivity was discovered by ?
(A7 Henri Becquerel
(B) Rutherford

(C) Madam Curie

(D) None of these.

Chile Saltpetre 1is :
@) KNO,

(B) NaNO,

(C) NaySO,

(D) Na,SO,.

Dative bond is present in the

molecule :

(A) SO,
(B) BF,
(C) NH,

(D) CH,.

P RO,



43.

44

45.

N-2313-Series-A

fq @ o eresw &1 frm’ @

A TE?
(A) whfewrEm
(B) aftam
(C) T

(D) M)

Iogd o @ S feus i
¥ fem 9 R

(A) NaCl
(B) Na,COgq
(C) CaCOq4

(D) NaOH.

Cdiem ® FEYAE  feew  w

??

(A) 391 K
(B) 334K
(C) 351K

(D) 111K

43.

44,

45.

(18)

Upto which element the ‘Law of

Octaves’ was found to be

applicable 7
(A) Calcium
(B) Barium
(C) Nickel

(D) Potassium.

Nelson’s cell is used for the

manufacture of :
(A) NaCl
(B) N’azCO3

(C) CaCOg

(D) NaOH.

What is the Boiling point of

Methane ?
(A) 391K
B) 334K
(C) 351K

(D) 111 K.




46. W= Az HfAIma 47 F F oW 46,  Which gas is produced in Soda

T\ I9= 7 27 Acid Fire Extinguisher 7
(A) €O, . (A7 CO,
(B) 0O, (B) 0O,
1C) N, (C) Ny
(D) H,. (D) H,.

47. ‘vyq’ fFR Femz @ zEwm | 47, ‘Mist’ are examples of which

27 Colloid 7
(A) ™ (A) Foam
(B) wAUHEA AB)  Aerosol
(C) = (C) Gel
(D) z7° | FE FE0 , (D) None of these.
48.  ‘As,SJ’ fFas1 3T 2 48. ‘As,S, is the example of :
(A) =AEfYE FaEs (A) Positive Colloid
(B) HVETE FaEs (B) Negative Colloid
(C) =gz HIAEZS . (C) Neutral Colloid
(D) zA9 9 FE T (D) None of these.

N-2313-Series-A (19) P.T.O.




49.

50.

¥ I

52.

N-2313-Series-A

W gEd GhEm gEen | Hafud
T 22
A Y
(B) Te
(C) Cd
(D) Au,

0.01 M NaOH fga@d @1 pH
:

(A) 2
(B) 10
(C) 11
(D) 12.

TEHE R

(A) TEEW
(B) wfasifas
(C) Wid-3radEsh
(D) wfdue

‘ofiei w osEe uhwitmE fEe
HTE!T%

(A) 99 3TEeH

(B) WS HaA

(C) HiEgRY A™HGA

(D) T O HE &

(20)

49.

50.

51,

52.

Which does not belong to second

transition series ?
(A) Y

(B) Te

(C) Cd

(D) Au.

The pH of 0.01 M NaOH solution

i8: :

(A) 2
(B) 10
(C) 11
(D) 12.

Equanil is :

(A) Analgesic
(B) Antibiotic
(C) Tranquilizer
(D) Antiseptic.

‘Aniline’ is pui‘iﬁed by:
(A) Steam distillation
(B) Fractional distillation
(C) Simple distillation

(D) None of these.



53. TOEEs e e T AW 27 53.

(A) CgH.CI
B) CgH,Cl,
(C) CgHCl,

(A) HgCl,
(B) HgS

(C) Hg,Cl,
(D) HgClL

55. >fggg F 99d FaEsad 99 | 55,

i

(A) Cu
(B) Pt
(C) Au

(D) Ag.

56. TEEE 66 T @ 56.

(A) HafHg g
(B) UicigmEEs

(C) TE-Tiaim

(D) BT

N-2313-Series-A (21)

Gammexane is the name given to :
(A) CgH;CI |

(B) CgH,Cl,

@) CgHClg

(D) CgH,Cly

Calomel is :
(A}r HgCl,
(B) HgS

(C) HgyCly
(D) HgCL

-

Purple of Cassius is colloidal sol
of :

(A) Cu
(B) Pt
(C) Au
(D) Ag.

.Nylon 6,6 is not a :

(A) Condensation Polymer
(B) Polyamide
(C) Co-polymer

(B) Hoﬁmpolymer.

PO,




ST

58.

59.

N-2313-Series-A

fa  10° @m0 gfg
At sfafEm #1 @ g 6
sl #
agrn W, A sfafEa &) 7 ag
ST @

-qﬁ BIREIE! '561 500(;

(A) 64 7T
(B) 112 7om

(C) 32 7om

(D) 44 oM

TegH ofFE F TFETEEES -
€?

(A) NO

(B) N,0

(C) N,O,

(D) N,O,

e fFed a4 @4 ¢/
(A) 7
(B) 14
(C) 21

(D) 12.

57,

58.

59.

(22)

The rate of a Chemical reaction

becomes double for every 10°

rise in temperature. If the

temperature 18 raised by 50°C,
the rate of reaction increase by

about :

(A) 64 times Ly 1% LY L YL

(B) 112 times

(Cy~ 32 times

(D) 44 times.

Which is the Anhydride of

nitrous acid ?
(A) NO

(B) N,O

(C) Ny04

(D) N,O,.

How many Crystal systems are

known ?
(A) 7
(B) 14
(C 21
(D) 12.



60. wfe™ #H we W NH, # | 60. Decomposition of NH, on the
AU UF Wiafwmw 2 surface of Platinum is a reaction :
(A) ¥ %W (A) Zero order
(B) 99w %m (B) First order
(C) fgdra =m (C) Second order
(D) JdF FHm (D) Third order.

6l. =3 "ag a9 f&g wegg 9 939 61. Sound travels fastest in :
(A) 79 o + (A) Gases
B) 3= ¥ (B) Liquids
(C) 2™ ¥ (C) Solid
(D) fra@ i o (D) Vacuum.

62, TH fwar @ B2 o 62. What is One kilo ?

(A) Hefd =1 3% (&7 Unit of Mass
(B) @R & ITHE (B) Unit of Length
(C) H&q &1 3y§d (C) Prefix of number
(D) 9 ¥ FE Tl (D) None of these.

63. TUF YEW 99 63. One Light year is :
(A) 3 x 108 #HL.A. (A) 3x108mvs
(B) 9.46 x 1015 . B 946x10%m
(C) 3x 108 (C) 3x108m
(D) 9.46 x 1015 #t./4. | (D) 9.46 x 105 mys.

N-2313-Series-A (23) P.T.O.




64,  TH WEEX Wl 7 W @ vl oW
[\ gen ¥ ol wE um arie
q o ¢, aW Iuw g st
R U I T R
(A) 44 m,7Tm
(B) 22m,Tm
(C) 44 m, 14 m
(D) 22m, 14 m.
65. A Twit faengr-gma e o
frast wad afus e 9o =@
22
3EH YeTTE]
Eard
: 5
g
(A) oTeHt
(B) R
(C) «@mEsh .
(D) TermeEl
N-2313-Series-A

65,

(24)

An animal s tied with 7 m long
rope and completes o semicir I
The maximum distance nand

digplacomont covered by it will

be

<’ ,
(A) 44 m,7Tm 7wt //
!,
(B) 22m,7m r"]
(C) 44 m, 14 m by

D) 22m, 14 m, )

In the following displacement
time graph predict which one has

maximum uniform speed 7

Man Train

E Car
i Bike
&
B
o
]
Time

(A) Man

(B) Car

(C) Bike

() Train.



66.

67.

68.

.N-2313-Series-A

g% BN 9 H T T F WY 4
R WFs H F oIIE e

(€C) 7.6

(D) 7:9.

=eq &1 Tfa & e fEm fewes
e & fagra & wfa ®?

(A) wEfd
(B) e
(C) A Ham
(D) il

Tfq x Fefd
AR x=——ﬁ— %, @ x e

(A) 9o
(B) it

(C) wH

(D) T ¥ FE T

66.

67.

68.

(25)

A body is dropped from a height,
what is the ratio of distance
travelled by the body during 4th

and 3rd second 7

(A) 1:1

o
-3

(B)
(C) 7:5

D) 779

Which law of conservation is

followed by Newton's 3rd law of

motion ?
(A) Mass
(B~ Momentum

(C) Angular momentum

(D) Energy.
Velocit lass
If x= g ocrlri);cel\ = ,thenxis:
&) Force
+
(B) Energy
! ™a
(C) Pressure
(D) None of these.
PT.O.




0. UF 2 fEm wefa = fiz 10 ms! | 69.
#t nfg B UF HEEFA HAE W FA
1 21 forgam =y ToriE ‘0.4 1
Mmﬂmﬁmaﬂﬂqﬁt

(A) 0 .
(B) 625 .
(C) 19 .

(D) 12.5 ®h|

70. 9a faeurm urs & FHawa | 70.

dTFa el 7

71. Uk === fadmn #7 # 50N F | 7L
ad B uFed 2, 9= 50 AFvE
q 2 d. #1 gt 7@ FA ° A

w1 IWEM F 2
@A) 2 W

(B) 746 W

(C) 5kW

(D) 100 W.

N-2313-Semies-A

(26)

A block of mass 2 kg is moving
with velocity 10 ms~} on a rough
horizontal surface, the coefficient
of friction ‘p’ is 0.4, the distance
travelled by the block before
coming to rest °

-

(A) Om ;:é
(B) 6.25m P
(C) 19m

(D) 125 m.

Area under Forced isplacement

graph shows :
(A) Impulse

(B) Work

(C) Momentum

(D) None of these.

A Child pushes a toy car with 2
force of 50 N. The power exerted
by the Child in displacing the car
by 2 min 50 s is :

 2W W= Fxd
(B) 746W _gor -
(C) 5kW =
(D) 100 W. 1]




72.

7

74.

N-2313-Series-A

fdt o5 & a1 ;| s0% @ w@E
s ¥ W oaw #® s et g
fea wfwm =) gfg =t 22

(A) 33%

(B) 66%
(C) 100%

(D) 125%.

frefafes & | fegsw @i an | 73

uq sfysw 22
wS w e @ oW W
o W R R

gedt & R o1y & ik g
o |

geat & i & g g &l

(A)
(B)
(C)

(D)

% & 4 w1 Deell (Ring) 3R | 74

gaeR fewm A & & B R
TaE & ofedd YO kW € @
ITRT Jgd Mgl (MI):

JUR B

femm @1 MI S§1 &mm
Sedl @ MI SR e
% & FE Hehdl

(A)
(B)
(C)

(D)

(27)

72.

®

If the momentum of a body is
increased by 50% then % age
increase in K.E. of the body will be ?

@& 3%  wex [

(B) 66% (M
(C) 100% 146 P
M) 125%. 2.25

Which one of the following has

Largest Angular Velocity ?
(A) Minute hand of a watch

(B)

©

Hour hand of a watch

Rotation of earth about its

own axis

(D) Revolution of earth around

the sun.

A Ring and a disc of same
material having same mass ‘M’
and radius ‘R’ are rotating about
an axis perpendicular to its
plane then MI (Moment of
Inertia) will be :

(A) Same in both

Disc has more MI

()

Ring has more MI N

(D) ‘We cannot predict.



75.

76.

N-23 13—Series—A |

TH TAER I9ddl g3 'l H
FaESEl @ 2l 9" 9% IR A
ﬁﬁ%ﬁﬂ%ﬁ?:

(A) Fim T wW e ? sl

(B) =g T S et & 8
SE@ FH €

(C) wHim Ty o @ A &
Jedt €

(D) Fig Tfd MR Fe@ I
w9 T e

TR TF a%] Yl & "o | feufq
| § 2 o fx feofd 3 w e
R 99 YT B BRI @R g

1 GE HA BT:

2

Y SR e

(A) 8,>82>83
(B) 81<82<83
(C) 81>83>82

(D) g;<83<82

75.

76.

(28)

A\
2~

A diver jumping from a
springboard exhibits somersaults

in air. When. he Curls, his body :

(A Angular velocity decreases

and MI increases

B) Angular velocity increases
-

and MI decreases

Both angular velocity as

well as MI increases

\S

(D) Both angular velocity as

well as MI decreases.

In reference to earth, if a body
moves from position 1 to 2 and
then to position 3 then the correct
sequence for acceleration due to

gravity ‘g’ will be :

2

(A) g,>89>83 9\‘7 9)-7\
B) 81 <8y <83

@/g1<g3 <g,.



77. o3 7 @ ww P oyl s | o,
% WX AR AUSTHR FEl o HHAT
2| SMfed &% SEA Brafeq &
SUN & < Tum & 3R ‘t, §9a
§ W WA w T wm
W A T T N U
TH TEEA 2 q@ b ANty H
T g

|
U E
S
N/\\EA
(A) t1:8t2
@ =2,

78. gl @1 UH IWE WS AW SR | 78
e N -2 1 B
feerfast ol &1 @U@ €
(A) 2:1
(B)A2
© 1:42
(D) \/5:1.

N-2313-Series-A (29)

Figure shows elliptical orbit of a
Planet ‘P about the Sun ‘S’. The
shaded area SEA is twice the
shaded area SUN. If ‘t;" is the
time for planet to move from ‘E’

to A and 'tz’ is time to move from

N to U, then :

(A)

(C)

For a satellite of earth moving
around it, the ratio of K.E. to P.E.

18 :

A 2:1
B 1:2
©) 1:42

(D) \/_2_:1.

P.TO:
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79, Ul ® W AV ® TemER SRR 79. Spherical shape of  small

LRI T molecules of water is due to :
(A) WAE &1 T (A) Surface tension

(B) "™ (94rer) (B) Viscosity

(C)  @fvreTe (C) Capillarity

(D; o A i e (D) None of these.

80. WRWEE e W auuH 77°F 8 80. The temperature on Fahrenheit

T ofvwmw we 9 gd ame scale is 77°F then the corresponding
TR R temperature in Celsius scale is :
(A) 0°C (A) 0°C
2. \2 4 o)
(B) 273.15°C (B) 273.15°C TONS
© 364°C @ saC s T
3 g
(D) 25°C. By~ 251C. ¢ qﬂ/
3 ;@L
81. UH 9% hl W 3Ed Tfd H HA 81. The total energy of a particle
I E 2?1 9o fawemm smm @6 executing SHM is E. When
3 BN § q9 o%g Wi Tfas Seft displacement of particle is half of
T = the amplitude then K.E. of the
particle is :
J3
(A) —E
2 (A) ﬁE
2
E
Bl = E
2 (B) 5
3E
(@ = 1)
4 (®) 4
2 2
—E. —E.
(D) 73 (D) NG
N-2313-Series-A (30)




84.

N-2313-Series-A

IR wEw ww oW amgfa 1,25
W (1.256 He) ® o ww fe &
Y T fwedt ar wew

(A) 65

(B) 78

(©) 80

(D) 90.

Faln o wft & ofq
A 0 ms!

(B) 332 ms™!

(C) 280 ms™?

(D) 660 ms™1.

TH WEH R TE R ® W
ﬁﬂ@ﬁ‘ﬁﬂ’ﬂ:

A) A

(B)m

(C) uiawy"

D) E U o B
el

82.

83.

84.

(31)

AB) 75

If the frequency of Human heart

is 1.25 Hz, the number of heart

u\
(A) 65 v

\ L7
\ (O 54\ l&g
1 g

(g_) 80

(D) 90. _

The. speed of sound is Vacuum is:
(A) Oms!

(Bl 332 ms!

(C) 280 ms™!

(D) 660 ms™!

Electrostatic force between a

proton and a Neutron will be :
(&) Zero

(BY Attractive

(C) Repulsive

(D) Sometimes attractive and

Sometimes repulsive.

P A0




85. Wh 3nC & AW &= § ? w9
s R W @ W fagm A R
(A) 5400 NC-!
(B) 216 NC-!
(©) 0NC-!

(D) 1080 NC-1,

gufa o & onF
@ wafa = ¥ fw w e

S6. |14

Tt Wi (%]nl? F A P

q WAeE F® gRemy

= 4%4.%

D) —< >

N-2313-Series-A

85. A Charge of 3 nC is fixed at

origin then the electric field at

distance 5 m away 1s :
(A) 5400 NC!
216 NC~!

0 NC!

(D) 1080 NC1.

capacitors each of
to be

86. Seven
capacitance 2nk  are
connected in a configuration to

obtain an effective capacitance of

[E) nF. Which of the combination

11

will achieve the desire result :

(32) .



g7. AR fHEl wifgsd #ae & = 87. If an electric dipole is enclosed in

T e feya & foga a certain Gaussian surface then
& electric flux will be :
q q
Ay  — o
= 4 o
2q 2q
(B) — e
) & 6) &
(C) Zero (C) Zero
q q
D D) ~_-
(D) o (D) =

88.  fawsdit Vﬁl”f’lﬂ'&z" % f3%a & o T | 88 If area of a resistor is doubled the

3R o= & ey &Y fam W original and length is halved,

IgFT T4 ufay - then 1t§ new resistance will :

(A) @&t el , (A) remailn same
(B) = [m B (B) becomes twice NEa R
(C) M w S . (C) become half L
T ONge
: 1
(D) T EICIE T & Sl (> become i times.

N-2313-Series-A (33) " PTO.




g9, 3T (25+5)Q F ufaivEw &

(A) o, &80 3 FHTE
®) @, e sk g
(C) del, &40, el 3:ﬁ'{ R

(D) @, U, &Iell 3ﬁ“{ |

g0. fr@w @ fags &1 ween frm
frg T @ FEM W enefd @7

(A) Wefd
(B) SIEl
(C) st
(D) FH |/ HE T

N-2313-Series-A

89. If resistance (25+5) 1s to be
represented, then sequence of

colours in carbon resistor will be
(A) Red, Green and Black

(B) Brown, Blue and Gold

(C) Red, Green, Black and Gold
Black and

(D) Red, Green,

Silver.

90. Kirchhoff's 1st law of electricity is
based upon law of conservation
of :

(A) Mass
(B) Charge
(&) Energy

(D) None of these.

\one
~din
e ? J2nx)
%k‘\. ~n — Kw
pa:st
— k%
g B
/\(,L\y\ A
%i,ﬁ\*-’t‘x}ﬁ:}
=N
G '_K.r\l’\z,-\-\"‘J
4l A xdr




SECTION-III : MATHEMATICS

91, & x°-ax’+6x-a W (x - a)q 91
fafsm feban smen @, @ guan e
a=qd] %:
(A) 4a W~ A
n
(B) 9a [t
'(}:’\ . v
(C) b
oa %,O\
-
(D) 7a. T
(n”
92. AR (x-1), p(x)=kx®-V2x+1, | 92.
F OUF PH 2, A kH AE B
A 3.1 ﬁ‘dl qxik
' .?kfl
B) JV2+1
© -(V2+1) .
D -(v2-1). |
93.  sinx+cosx o Aty TH ©: 93.
(A) 1
B) 3
(C) 2 ‘
D) =
(D) 5"
N-2313-Series-A (35)

(D)

When x° - ax? + 6x ~a is divided

by (x — a), then remainder is :

s e ———————

(A) )\\5’ o/)J(,x-:\k

0&‘(

(B) 9a ’_’(X(
/ {a
©r 5 ;

Ha T T

S

(D) 7a.

(x-1) ~is a  factor  of

p(x) = kx* - V2x +1,

value of k is :

& 21

B) J2+1
wy —(«./54-1)
@ -(v2-1).

then the

The

maximum value of

Sin X + COSX 1S :
Y )
A 1 g 35"'
Br 2
)

=
Jx
1y
(C) 2 3

D | =
—
1’
%5



04.

935

fareht wen W wereRl 3i aferaman )
gemat A s 7:5 #1 afx arersi
# wen afewsl @ den A 8
aifirs ®, o wan W @ fere faaned
R:

o
(A) 38 S -G
B) 58 SwA 3 =TI
(C) 48 L
)
(D) b55.
Axy 4 Syu
24 4o
Yy

w REE "en & IWE A9
3 g offus 21 afx ow ® 17 S
foam wu dem BCOH W 1w fe
mwﬁ%mm%mag

qﬁﬁﬂﬂ@l%

W
—

94,

95.

13 N4
(A) 21
s W _3
— " 1 7L
(B) 23 + 4
p =
Il Zv\«\’?’\‘ =
@ — ;
LT B
19 o \
T e
JA
N-2313-Series-A - (36)

The number of boys and girls in a
clags are in the ratio 7:5. The
number of boys is 8 more than the

number of girls. Then the total

class strength 18 :
(A) 38
(B) 58
() 48

(D) 55.

The denominator of a rational

number is greater than its
numerator by 8. If the numerator
is increased by 17 and the
denominator is decreased by 1, the

3
number obtained is 5 Then the

rational number is :

13
il
15
B) 53
11

(C) 17

1S

® 37



96. T 3H archt & T wH wem § wH | 96.  Oneof the two digits of a two digit
Ah TR F o qon ) TR FF] number is three times the other
® WM St WE e F b digit. If you interchange the digits
™ g i of this two-digit number and add
3 g T 88 W I the resulting number to the

| A T gen FoEni? original number you get 88. What
(A) 68 by v I will be the original number ?
-t (A) 68 '
(B) 62 AL 1% ) P
% By . 62 -

c1 Gk (C) 52 - C

(D) 76. 0 3 (D) 76.
/"T/
97.  X56,000 W, 2 98 Tvaq R W H | 97. What rate gives 2280 as interest
3280 WIURUl =1 <4 B2 on a sum of 56,000 in 2 years ?
20 ¥
(A) 50% gggn PN (A) 50%
| oo
(B) .25% By 25%
¢ );&L-D-B" Y
(C) .45% Séoco ¥ L (C) .45%
e
(D) =98 ¥ = T . -(‘1 (D) None of these.
98.  tan '(1) +oos'1[—g +sin‘1(—3 =2 Al 98 tan’1(1)+oos‘1(—%] +sm’1(—3 =2
b
(A)%T-r- _'Ez:\_/ ,(A),s_n T_\‘_—J,_EJ'-.._‘_
Jel 400 Bt
T
e . Tige (% -
> / . /?) - L‘ Tes ;’L
13~ oD 13 n A
= ¢ O T 1‘ £
“E_?’\ | ﬂ:‘
Aan'S = -
@ —— L2 @)y —= 2K
-9
N-2313-Series-A (37) PTiO

L]




99.

100.

101.

N-2313-Series-A

280mfﬂ®13‘|ﬁqa;-qﬁ-qaﬁ

352m T T FH B fau fraH
SAS GRSt

2x 122t
A
(A) 100
% f
(B) 300 3¢
(C) 500 194 ¢ 200
(D) 200. _______Z
=t
,Z*.Z"Zst%

8 & wuH 151IUTE|’fanth
2l

(A) 960
(B) 980
(C) 1020 g
:1 z
@) 860. 16(12) (3¢
' qc
ﬁo '3’5 &0‘1)
e
ﬂﬁ{mw 75 %ﬁ'{éﬁﬁm = 60, @l
o
gl R T -_—Ol'("’
¥ . //
(A) 30 ]
(B) 105 -’
(E)"=330
(D) 345.

99.

(38)

100.

101.

How many times a wheel of
radius 28 cm must rotate to go

352 m ?
(A) 100
(B) 300

(C)

@7 200.

500

The sum of 1st 15 multiples of 8 1s

equal to :
<A 960
(B) 980

(C) 1020

(D) 860.

If Mean = 75 and Median = 60,

then mode is equal to :

(A) 30

(BY 105

(C) 330

(D) 345.




102. 250 . 9 &R} FAHR wAH B | 102. The cost of fencing a square park

LU g M & =T 20 of side 250 m at the rate of T20

wfd R W W W A R per meter is equal to :

. 7 Sox Yy 20

(A) 15,000 (A) %15,000 R g
looo X1°

(B) 20,000 ° (Br~ 20,000 e

(C) 210,000 (C) %10,000

(D) 225,000. (D) %25,000.

103. 3fHi 6, 2, 7, 4 3k 3 § @ g% | 103. Whatis the difference between the

]

F Had TH G FAT FE 8T greatest and the least number that
T W g% Gl gad agt 3R can be written using the digits 6,
Ted ©F TN #1322 2,7, 4 and 3 each only once ?
(A) 62,864 A) 62864 26343

: 234673
(B) 29,655 (B) 29,655 .
(C) 52,965 ‘ ©r sa9es  TO4PE
SR 9% %&)
(D) 55,296. (D) 55296. “¢2q(5

v -_________’.———

104. W +1 ﬁa T%'Tq W = ? - 104. Total surface area of cone = ?

(A) nr’h : (A) nr’h Tl 4 et
(B) 1t1'1.l+1tr2 | B nrl+nrl TN Lh"rl)
(C) 2nrh () 2nrh

(D) 2rnr(r+h). (D) 2rr(r+h).

N-2313-Series-A (39) P.T.O.




105.

106.

{

: N-2313-Series-A

eft af vF am Fv #9240
a7
(A) 10 =y
15 g

20 SImd

(B)
(C)

(D) 25 Y|

g 2%
7o ST €

-10.2*+16=0 =

U—210 +lb

(A) 2,8 s
'?/G__hg,z/ 46 -0
B) 1,8 . :
Y - 30 41l(=y
C 1,8

(D) 2, 3.

1099999 &1 Wadl aU=R 2:
(A) 11,000,00
(B) 10,999,98
(C)

(D) 399 | I3 ARl

11,000,01

105. How many sides does a regular

106.

107.

(40)

polygon have if the measure of

an exterior angle is 24° 7

@ 10 sides

- ! )
_{B)~ 15 sides o |3¢°

jo©
| L
@ 20 sides ¢

(D) 25 sides%x
The roots \o{ the equatlon

-10. 2" +16=0 are equal to .

@A) 28 . &Koo
® 13 5 (;’Lm) +2
+-B
(D) 2,3
(‘l“—- \o-zj\

Successor of 1?99999 is equal
gre" -

to :

&y 11,000,00

(B) 10,999,98

(C) 11,000,01

(D) None of these.




108. 1°+2%.3%, +n3 =9
nin+1
(A) (2) | 1427

109. @HrHw 4% _39%3,128=0 &

e ®:

(A) 1 32

(B) 2 3R 3 4- 3%

(C) 3 3R 4 A

(D) 4 W S. )([6 G Y43
Y d

110. % famerd § 500 faemed ¥
A, B FTE F o 3% 39 a@
4 wel few T f& dfeqam &
T HeH # GEed & GEE gl
79 Faen H a4 | fohaq faenfimi

108. 1°4+28:3%4 ... Fnd =2 N
\
n(n+1) ;Sy%j
(A) 5
&
n*(n+1) i 3
(B) 6 q o U\.
)(20+ 1) :
nin + 0+
(C) — 6
n(n+1) 3
.l 2
/
109. The roots of the equation
4* ~3.9%*% 1128 =0 are:
(A) 1 and 2 16 ——?):
(B) 2 and 3
<€) 3 and 4
(D) 4 and 5.

110. There are 500 students in a school.
* For P.T. drill they have to stand in
such a manner that the nuniber of

rows is equal to the number of
columns. How many students would

F @eL WA B2 92 be left out in this arrangement ?
2 _ gL
(A) 14 foeneit % (A) 14 Students '-\/‘}_'L
(B) 16 farene \'\y B) 16 Students _f,h“
(@) 18 ERIRI 2 A (C) 18 Students 2L
L 2 5 ~ 3
(D) 23 fomnedf 4 (D) 23 Student\s. /"\’Z
W Ly
N-2313-Series-A A /4( 41) yg ‘13 PTO
‘ oo ™z




11

112

113.

|

v 94 33 % ga 2 v e

ks #9EA 600 em? #7
(A) 20 em
(B) 10e¢m
(C) 30cm

(D) 15 em.

sin” 75° - sin” 15°

1
(A) E
J3
{
B) >

) 1

D) 0.

2z 572 9H AA TH AW F TEE
3 v vg e 9 2, A 0
= yigsa 2:

(A)

B)

Bl W=

©

Qe Bls

(D)

111.

112,

113.

(42)

What will be the side of cube
whose surface area is 600 cm? 7
(A) 20cm
!Bﬂ/ 10 em
(C) 30cm
(D) 15cm
The value of sin®75° —sin”15° is :
1 e to
(A) 2
J3
( b L
B) 2
c) 1
(D) 0
If a Card is drawn from deck of 52
playing cards, then probability of
getting a face card is :
1 14;{’ 2
g e
; Lt
B 13 1%
(C) i
13
(D) 2
52




114. 3Afg . B TS0 114. If o and p are the roots of the

3x* -5x-8=0 =& qd g equation 3x? ~5x-8=0 then
(IB2 + [3(12 ERICES %: (L[SZ + [}(;_2 i8 equal to
2 9 pe L/ij
(A) 3 (A) 3 L
/ ?/ z™
1 1 ’
40 " 2
(C) s (C) 9
(D) 399 ® i3 &l - (D) None of these.

5 3 3 115. Multiplicative inverse of :
115. —gx(—7) &1 oIS WA 2 P

—ﬂg—x[—%) 18
56
R %
56 1y
Y 15
(B) e
56 15
' (B) E
(©) 56 :
e . 56
15 _96
(C) 15
15 | 15
(D) 56 : (D) 26"

N-2313-Series-A (43) P.T.O.




|16, W wvE e 0 6 feenféel | 116,
a e 3 e W wfeu) o 24
fereniVat b (o o aioped o)
saveea Wy
(A) 4
B 12
(C) 8
(D) 14,

117, weqel wfer s el afk gEwn | g9
12%, 1080 #7

togo = [ A
(A) 9000 1ov

U

'&s,w\"“"
(B) 7000 -’i%-\
(C) 8000
(D) 11000,

N-2313-Series-A (44 )

I o C_Tmulml,nl' lahy., theve wie i
Computars for every G stide
How many eompulers will
nooded for 24 students 7
(A) 4
p \
(3 12 <
(€)) H
(D) 14,
What will be the whole quantity if
12% of it is 1080 7
A D000
. (1) 7000
(C) ' BOOO
(D) 11000,



118.

179"

120.

N-2313-Series-A

L

AT SrEfd N oamm x sy | 118,
LB 2 4

(A) x =30° y = 60°

(B) x=35°y=45°

(C) x=170°y =60°

(D) T° ¥ FE

A (-8)™ x(-3)° =(~3)", @ | 119.
m U B

(A) 1

(B) 2

(C) 4

(D) 5 j
x3—3x?y+3xy2-y3 =7 120.
@A) (x+y)

® (x-y)’
. (© -y

(D) 34 ¥ HiE AL

(45)

In given diagram, what will be
the values of the unknowns x

and y :

(A) x=30°y=60°
(B) x=35°y=45°
(Cr x="70°y = 60°
(D) None of these.

If (-3)™" x(-3)° =(-3)", then

m is equal to :

—~H&) 1 i TG = T
(B) 2 -

(C) 4

@) 5.

§3—3X2y+3xy2—y3 is equal to :
@A) (x+y)’
B (x-y)°

< —y3

(D) None of these.

(C)

2RO




1122,

123

N-2313-Series-A

SECTION-IV : GENERAL AWARENESS INCLUDING HIMACHAL
PRADESH CURRENT AFFAIRS & ENVIRONMENTAL STUDIES

IRA 61 WUH SY-TUEH H o2
(A) TS A =]

(B) =&t @@
(C) = fue
(D) 9ER deavvE 9ed|

I HS & "EuE e 97

(A) M HgTH=

(B) =@l TEM=<  gLEd
(C) @ fadwr=

(D) TS TH HEd T4l

W"{qwf@?:ﬁsm 4 f&A
seiel & men fem @2 '

(A) 8°4' 3R 37°6' & T

(B) 7°4' X 36°6' & WA

(C) 8°7" 3R 39°6 & HA

(D) 7°4' 3 40°6' & HeA|

(46)

121,

122,

123.

Who is the First Deputy Prime

Minister of India ?
(A) G.L.Nanda
(B) Devi Lal

(C) Charan Singh

(D) gardar Vallabhbhai Patel.

Who was the founder the Arya
Samaj ?

(A) Swami Shraddhanand
(B~ Swami Dayananda Saraswati

(C) Swami Vivekananda

(D) Raja Ram Mohan Roy.

India is located on North of

Equator between which of

following Latitudes :
(A) Between 8°4' and 37°6'
(B) Between 7°4' and 36°6'

(C) Between 8°7' and 39°6'

(D) Between 7°4' and 40°6' .

———

f—




124. ¥WHI @@ faw@ wfegremr fem | 124, Hirakud Hydel Power Station is

T W fem 22 located on which River ?
i (A) = (A) Chambal

(B) * e (B) Gandak

(C) T (C7” Mahanadi

(D) TRw9E) (D) Sonbhadra.

125. wF W Frefefes wr § e | 125. The Raman Peak is situated in

T fog 272 which of following place ?
(A) 3rveaE AR fAFEr o (A) Andaman and Nicobar
(B) fvenfas o (B) Siwalik

(C) Sl gEal o (C) Zaskar Range

(D) 3a "R HI (D) Arabian Sea.

126. &0 9RG @1 Hares @ @ @ | 126. Which is the Highest Peak of

| 272 South India ?
(A) TSR (A) Mahendragiri
(B) mﬁvr‘ﬂ (B) Mahabaleshwar
(C) EreTEe | (C) Doddabetta
(D) FFEYEN (D) Anamudi. ‘
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127.

129.

N-2313-Series-A

RUGIRIISIEC I B T (e
faets ® wfw fe ura

(A) ®Haa Ted =AY

(B) #%ad Ieaay ATATe
(C)
(D) ¥¥9 AUl ISAGH AT

YRA &1 YR HEEd ] ® Hd

ffm &9 W wer gan 22
(;\) 10.25
(B) 12.13
(C) -29.15

() . 28.23.

I w1 H®A Hi ®?
(A) =70 wifed
(B) vyziferdH

(c) g4
(D) faga i

127,

128.

129.

(48)

Who has the Power of Judicig

review under the Indig,

Constitution ?
(A) High Court Only
(B)

9.

(D)

Supreme Court Only
President

High and Supreme Court.

The Thar Desert of India is

spread over how much area of

the country?

()

(B)

10.25
12.13
(C) 29.15
(D) 28.23.

Main source of Energy is :
(A)
(B) Petroleum

“C)

Molecule power

Sun

(D) Electric Power.

W



N % 9 9 4 wwaee #1 | 130, In which state of India Land-

T W afvw e 27 sliding mostly occur ?
Q) TS (A) Rajasthan

(B) ey RES] (B) Andhra Pradesh
(C) IWm vy | (C) Uttar Pradesh
(D) ImrEve| AD) Uttarakhand.

TR W fEE w9 9w o 131. From which country did Mother

ur? Teresa came to India ?
(A)  Fmenfaan _ (A) Yugoslavia

(B) A=t (B) Albania

(C) et @) Italy

(D) 31%! : (D) America.

Yed Saq &1 ARY FEl " ga 132. From where did Urban Life

ur? : begin ?

(A) = 9 (A) From China

(B) 3 ¥ (B) From Iran

(C) wEreHa ¥ (C) From Mesopotamia
(D) wmUE Hi (D) From Japan.
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136.

137

138.

“wmﬁﬁm”me

??
Aa) f=2 aﬁfw &
B) v Sihwmm =5

C) =g= siw dfemes =
(D) . = ERieal

Uil o wefymen o fad weR | 137.

%ﬁara'wavﬁ——r%?
(A) < R &
(B) ¥R YW &
(C) T YR *

(D) 33 &R |

SRR qRE ®E S e
(A) 1645 3. ¥
(B) 165; |
(C) 1670 3. H

(D) ' 1688 & HI

N-23 13—Sefies—A'

(51)

138.

136. Who is called ‘Father of

Railways’ ?

(A) Richard Trevithick
(B) George Stephenson
(C) Duke of Wellington

(D) LK Brunel.

How many types of Marriage are
described in Dharmasutras and

Dharmashastras ?
(A) Two Types
<®B) Four Types

(C) Three Types

(D) Eight Types.

When did Bernier came to India ?
(A) 1645 AD.
(B) 1656 A.D.
(C) 1670 A.D.

(D) 1688 A.D.

B.R.O.



139, WR® 1 u4W WA W @ | 139, Who was the First Surveyor

"? General of India ?

(A) A U, efre (A) J.F. Fleet

(B) wif3 wreter (B) John Marshall

(©) e wifern A (C) Col. Colin Mackenzie
(D) seteslg e (D) Alexander Greenlo.

140. W@ d yuw m wa wend e 140. When the First Train Started in

? India ?

(A) 1850 ¢ o (A) 1850 A.D.
(B) 1853 §. A (BY 1853 A.D.
(C) 1856 % o (C) 1856 A.D.
(D) 1857 % I | (D) 1857 A.D.

141. feuae wewr & f5g foa 3 w01 | 141. Which district of Himachal

i o wdg= 58 F1 TR Pradesh has won the best Award
Eici in Poshan Abhiyaan ?

(A) fermen (A) Shimla

(B) @ieH (B) Solan

(C) wsl © (C) Mandi

(D) ATy (BT Hamirpur.
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142, foram ity o qurengfn ufwm 142. Para Gliding Training Institute in

weur wnfen fwm s, Himachal Pradesh will be set up
(A) e wren nt’:
{A) Solang Nala
bl 5L (B) Waknaghat
R s (Cy Khajjiar
(D) W et (P Bir Billing.

143, fm o) & dfew 9m = 22 | 143, What is the Vedic name of River
Chenab ? ;

(A) fagrem :
himexam.com (A} Vipasha
(B) sifert %
(B) Asikni
(©) waf (C) Shutudri
(D) =T (D) Chandni.

| 144. frafafaa 4 | &9 @ fewrma 4 | 144, Which of the following was the

' o ww A faem w @ amen First State to merge with Indian
qEen T o2 Union in Himachal ?
(A) AR (A) Bhagat
(B) faemaq (B Bilaspur
(C) faam (C) Theog
(D) FqqU : : (D) Nurpur.
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145.

146.

147.

N-2313-Series-A

frafafaa & 9 fFaa 1819 € o
forgen &) @S #1 «?

dfede U9
AL HAE)

(A)
(B)
(C) " @ity

(D) @€ THEE|

feqee TRV & Had 981 TR

2
(A) Tafam
(B) =ru femt

E Xl

~

(C)
(D) TSI

Iyraq f9g TR & ' OSHifds
e wE Y2

(A) SHIYIH
qrTe giedl
(C) =nad v fiw <

(B)

(D) TH el

145. Who

146.

147.

(54)

the following

among

discovered Shimla in 1819 A.D.?

(A) Lt. Rose

(B) Major Kennedy

John Lawrence

Lord Amherst.

Which is the largest Glacier in

Himachal Pradesh ?
(A) Shipting

(B)- Bara Shigr
(C) Kulti
(D) Gyephang.

Who was “The Political Guru” of

Y. S. Parmar ?

(A)- Kanshi Ram

(B¥ Bhagmal Sautha
(C) Chaudhary Sher Singh Jung

(D) Ram Lal.




148.

149.

N-2313-Series-A

bR S SFHEE WM we
fem @2

(A) wHTen

(B)

(C)

(D) WA

T F fRE T S 4 s,

1871 3. ¥ W =+ A ®I2
(A) wiE ==

(B) «fE widarfe™

(C) =g faa

(D) SWa ¥ § FIE T

= 1 & fFg e & g™ 9 A
197 29 & TG el H 191 HHe
§ TEaHE ace e & €7
(A) BHRE

(B) am:cn
(C) faamEagX
(D) Wl

148 Central Potato Research Institute

149.

150.

(55)

is located at which place ?

(A) Dharmashala

(B) Chail

Bemloe

()

(D) Manali.

Which Governor general of India

visited Mandi in October, 1871 7
(A) Lord Mayo

(B) Lord Cornwallis

‘(ﬁ Lord Minto

(D) None of the above.

Saksham Bhardwaj of which district
has set a world record by identifying
the National Flags of 197 Countries
within 191 Seconds ?

(A)-
(B)

Hamirpur
Kangra
(C) Bilaspur

(D) Mand.
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